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SIP _ :
Arithmetic AGC Round 4 - Question Paper - Class 5 SIP Academy
Genlus

ALL INDIA INTER-SCHOOL CONTEST

The number of questions in the actual exam will be more.

3 202 - This is a sample question paper to give an idea on the pattern of questions.
jsuni sz [sund | sun4 | Suns | Sums | Sun7 | Sum8 | Sum9 [Sunf0 [Sumtl [Suni2 [Sunis [Sumt4 |Sumts |Sumt6 |Sun17 [Sunis [Sumis [Sum20 [Sumai [sun2e |Sum2s |Sum2¢ | Sun2s.
822 || 852 || 734 || 873 || 808 || 893 || 844 || 840 || 825|| 755|| 875|| 907 || 885|| 830|| 785|| 767|| 812|| 837|| 748|| 816|| 743 || 892 || 814|| 786|| 904
+104 | | -589 | |+267 | |[+589 | |+509 | | -438 | |+672 | |+319 || -334 | |+202 | |+256 | |-243 || -318| | -169| | -574||-129||-594 || -285| |+548| | -250| |+485| | -134 | | -114| | -420| | +254
ﬁ +52 -33|| +33 || +68 || +49 -23 || +19|| +67 -61| +17|| +33 -33 -36| |+368 | |+454 | | -223 | |+533| | -290| | -260| | -174|| -234| | -208| | -291| |+498| | -276
Sum2s [Sum27 Sun2s [Sum29 |Sum0 | Sum31 |SumG |Suns |Sumd4 Sumos |Sunds |Sund |sum%8 [Sunds |sund [Sumt sunz [Sumes 'sunas sumds [sumes sun47 [Sumés |sum4s |Sumso.
790 || 805 || 842 || 802 || 826 || 723 || 842 || 748 || 866|| 761 || 883 || 760 || 884 || 740|| 891 || 860|| 733|| 844 || 715|| 734|| 905|| 758|| 794|| 725|| 706
+253 | |-214 | [+675 | |+408 | |+354 | | -393 | |+655 | [+206 | | -252 | |+422 | |+460 | | -468||-232| | -316||-143||-190| | -478||-231||+475|| -220| |+632| | -181||-199| | -177 | |+259
+60 -51 +29 +36 || +73 -14 || +12 +47 -71 +44 || +62 -83 -15| |+555| |+256 | | -300| |+268| | -271| | -107 || -217 || -149| | -280/| | -192| |+263| | -216
.~ Multiplication & Divisio
67 X 8 = 62 X 9 = 44 X 6 = 273 |/ 7 = / 2 =
97 X 5 = 50 X 4 = 22 X 5 = 512 / 8 = / 2 =
97 X 5 = 88 X 2 = 28 X 7 = 801 / 9 = / 2 =
2 67 X 8 = 68 X 4 = 62 X 5 = 534 / 6 = / 4 =
53 X 9 = 34 X 8 = 41 X 6 = 312 / 4 = 776 |/ 8 =
68 X 6 = 58 X 7 = 52 X 8 = 243 /| 3 = 603 / 9 =
85 X 9 = 86 X 9 = 340 / 4 = 252 / 6 = 189 / 3 =
77 X 8 = 68 X 4 = 212 / 4 = 522 / 9 = 249 [/ 3 =
28 X 6 = 45 X 2 = 522 / 6 = 480 / 5 = 232 / 4 =
69 X 3 = 82 X 4 = 776 |/ 8 = 696 / 8 = 712 / 8 =
\
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